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Guess paper – 2007
Class – XII

 Accountancy
Time Allowed: 3 Hours



                  Maximum Marks: 80

General Instructions:

(i) This question paper contains two parts 'A' and ‘B'. Both the part is compulsory for all students.

(ii) All parts of the questions should be attempted at one place.
                                          PART ‘A’

Accountancy

Q. 1. Distance between fixed and fluctuating capitals of partners. 
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Q. 2. ‘X’ Ltd. purchased land costing Rs. 9,50,00,000 from ‘Y’ Ltd. Rs. 50,00,000 were paid through bank and the balance by issuing equity shares of Rs. 100 each at a discount of 10%.

Pass the necessary journal entries for making the payment through bank and by issue of equity shares. 
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Q. 3. CMC Ltd. Invited for issuing 1,00,000 Equity Shares of Rs. 10 each at a premium of Rs. 3 per share. The Whole amount was payable on application. The issue was over-subscribed by 30,000 shares and allotment was made on pro-rata basis.

Pass necessary journal entries in the books of the company. 
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Q. 4. On 28.2.2005 BCL Ltd. converted its Rs. 1,00,000, 9% debentures issued at a premium of 10% Into 8% shares of Rs. 100 each Issued at a premium of 25%.

Pass necessary journal entries on the redemption of debentures. 
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Q. 5. Hasan is a partner in a firm. He withdraws the following amounts during the year 2002 :

February 1 



Rs. 4,000

May 1 




Rs. 10,000

June 30 



Rs. 4,000

October 31 



Rs. 12,000

December 31 



Rs. 4,000

Interest on drawings is to be charged @ 7½ % p.a.

Calculate the amount of interest to be charged on Hasan's drawings for the year 1989.

Ans.
Rs. 1,075
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Q. 6. What is meant by a debenture ‘Distinguish between a debenture and a Share. (Any two points) 









3
Q. 7. Briefly explain the occasions when the partnership can be reconstituted. 
4

Q. 8. State the conditions for the issue of shares at discount. 
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Q. 9. ‘Z’ & ‘Y’ are two partners sharing profits in the ratio of 2 :1 . Give the journal entry at the time of dissolution in the following cases.

(i) Deferred revenue advertising expenditure appeared at Rs 30,000.

(ii) Profit & Loss a/c was appearing on the asset side of balance sheet at Rs 60,000.

(iii) An unrecorded investment of Rs 6,000.

(iv) ‘Z’ one of the partners was to bear all the realisation expenses for which he was given a commission of 2 % of net cash realised from dissolution. Cash realised from assets was Rs 25,000 and cash paid for liabilities amounted to Rs 5,000.
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Q. 10. Williams Ltd. issued 20,00,00,000, 6½ % debenture of Rs. 20 each redeemable after 10 years.  debentureholder are given the option to get debenture redeemed at Rs. 22 per debenture any time after 5 years. At the end of 6 years debentureholders holding 1,00,00,000 debenture and at the end of 7 years holders of 50,00,000 debenture exercised their option to get their debenture redeemed. Record necessary journal entries.
4

Ans. Loss on redemption Rs. 3,00,000.

Q. 11. Rashmi Limited issued at par 10,000 Equity shares of Rs. 10 each payable Rs. 2.50 on application; Rs. 3 on allotment; Rs. 2 on first call and balance on the final call. All the shares were fully subscribed and paid except a shareholder having 100 shares could not pay the final call. Give journal entries to record these transactions. 
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Q. 12. Manas and Mukul are partners in a firm sharing profits in the ratio of 3:2. On April 1, 2003 they admit Manav as a new partner for 3/13 share in the profits. The new ratio will be 5 : 5 : 3. Manav contributed the following assets towards his capital and for his share of goodwill : Stock Rs. 40, 000, Debtors Rs. 60,000, Land Rs. 1,00,000, Plant and Machinery Rs. 60,000. On the date of admission of Manav, the goodwill of the firm was valued at Rs. 5,20,000. Record necessary journal entries in the books of the firm on Manav's admission and prepare Manav's capital account.
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Q. 13. R and K are equal partners. They decided to dissolve their firm as on December 31, 2000. Their Balance Sheet on that day stood as under :

Balance Sheet of R and K as at December 31, 2000

	Liabilities


	Amount

   (Rs.)
	Assets


	Amount

(Rs.)

	Sundry Creditors

Bills Payables

Capitals :

       Ram      15,000

       Krishan 15,000

	10,000

20,000

30,000


	Land and Buildings

Furniture and Fittings

Lorry

Stock

Debtors

Cash


	20,000

14,000

10,000

5,000

6,000

5,000



	Total
	60,000
	Total
	60,000


They decided to take up liabilities : R : Sundry Creditors and K : Bills Payable. Assets realized – Debtors Rs. 4,000; Furniture – Rs. 10,000; Stock Rs. 4,000; Lorry Rs.15,000 and Land and Buildings Rs. 35,000. Expenses on realization amounted to Rs. 500.

Record necessary journal entries for the above transactions and prepare realization account, cash account and capital accounts of partners.
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Ans. Profit on realization Rs. 12,500; cash account total Rs. 73,000

Or

Nithya, Sathya and Mithya were partners sharing profits and losses in the ratio of 5 : 3 : 2. Their Balance Sheet as on December 31, 2002 was as follows :

	Liabilities


	Amount

(Rs.)
	Assets


	Amount

(Rs.)

	Creditors

Reserve Funds

Capital Accounts :

Nithya 
30,000

Sathya 30,000

Mithya 20,000


	14,000

6,000

80,000


	Investments

Goodwill

Premises

Patents

Machinery

Stock

Debtors

Bank


	10,000

5,000

20,000

6,000

30,000

13,000

8,000

8,000



	
	1,00,000
	
	1,00,000


Mithya dies on 1.5.2002. The agreement between the executors of Mithya and the partners stated that :

a) Goodwill of the firm be valued at 2-1/2 times the average profits of last four years. The profits of four years were : 1998 Rs. 13,000, 1999 Rs. 12,000, 2000 Rs. 16,000 and 2001 Rs. 15,000

b) The patents are to be valued at Rs, 8,000, Machinery at Rs. 25,000 and premises Rs.25,000

(c) The share of profit of Mithya should be calculated on the basis of the profit of 2002.

d) Rs. 4,200 should be paid immediately and the balance should be paid in 4 equal half-yearly instalments carrying interest @ 10%.

Record the necessary journal entries to give effect to the above and write the executor’s account till the amount is fully paid. Also prepare the balance sheet of Nithya and Sathya as it would appear on 1.5.2002 after giving effect to the adjustments.

Ans. Balance Sheet : Total Rs. 92,800
Q. 14. Abhinandan Limited issued 40,000 Equity Shares of Rs. 10 each at a premium of Rs. 2.50 per share payable as follows : 

With Application (including premium) 
Rs. 4.50

On allotment 




Rs. 2.50

On First Call 




Rs. 5

80,000 shares were applied for and, owing to heavy oversubscription, allotment was made as thus :

No. of shares 


applied for Applicants

20,000 


10,000

40,000 


20,000

20,000 


10,000

It was decided that excess application money be adjusted against subsequent dues and the final surplus was returned.

A, to whom 300 shares were allotted on pro-rata basis, failed to pay the allotment money. B, to whom 450 shares were allotted on pro-rata basis, did not pay the call money. Their shares were forfeited after the call was made.

Of the shares forfeited, 500 were reissued to C at Rs. 9 per share, the whole of A's shares being included.

Present entries in the journal, cash book and the balance sheet of the Company.
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Ans. Capital Reserve Rs. 1,750.
Q. 15. The Balance Sheet of Alka and Bandana carrying on business in partnership and sharing profits in proportion of 2/3rd and 1/3rd respectively, stood as follows :

Balance Sheet of Alka and Bandana as at March 31, 2003

	Liabilities


	Amount

(Rs.)
	Assets


	Amount

(Rs.)

	Alka's Capital

Bandana's Capital

Reserve

Creditors


	51,450

36,750

1,500

10,300


	Machinery

Furniture

Debtors

Stock

Cash
	50,000

3,000

18,000

27,000

2,000

	Total
	1,00,000
	Total
	1,00,000


They admitted Chandana into partnership giving her 1/5th share of profits on the following terms :

a. The goodwill of the firm is to be valued at two year's profits calculated on the average of the 1st three-year's profits, which amounted to Rs. 20,000, Rs. 15,000 and Rs. 22,000

b. Chandana is to bring in cash for the amount of her share of goodwill

c. Chandana is to bring in capital in proportion to her profit sharing arrangements with other partners.

Give journal entries and opening Balance Sheet of the firm and also state their future profit sharing ratio.
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Ans. New profit ratio = 8 : 4 : 3

Balance of Capital accounts : Alka Rs. 57,517, Bandana Rs. 39,783,

Chandana Rs. 24,325

Balance of Cash account = Rs. 33,925

Total Balance Sheet = Rs. 33,925

Or

Paul, Gopal and Verma was partners sharing profits in the proportion of onehalf, one-third and one-sixth respectively. The Balance Sheet of the firm as on 31.3.2003

	Liabilities


	Amount

    (Rs.)
	Assets


	Amount

(Rs.)

	Bills payable

Sundry creditors

Reserve fund

Capitals :

Paul      4,00,000

Gopal    3,00,000

     Verma   2,50,000
	40,000

1,90,000

1,20,000

9,50,000
	Cash

Debtors        1,60,000
Less Reserve    5,000
Stock

Motar Van

Plant and Machinery
Factory Building
	15,000

1,55,000

2,50,000

80,000

3,50,000

4,50,000

	
	13,00,000
	
	13,00,000


Gopal retires on that date subject to the following adjustments

1) The goodwill of the firm to be valued at Rs, 1,80,000.

2) The reserve for doubtful debts to be increased by Rs. 19,500.

3) Stock to be appreciated by 20% and building by 10%.

4) Plant to be depreciated by 10% and Motor Van by 15%.

5) Gopal’s account will be settled immediately on his retirement and the continuing partners share contribute cash in such a manner so that their capitals become proportionate to their new profit sharing ratio. For the purpose of payment to Gopal, existing cash may be utilised after keeping Rs. 5,000 for working capital.

Record journal entries, give capital accounts of partners and the Balance Sheet of continuing partners as on April 1, 2003.

Ans. Balance Sheet : Total Rs. 13,18,500

PART 'B'

ANALYSIS OF FINANCIAL STATEMENT

Q. 16. Distinguish between a Cash Flow Statement and a Funds Flow Statement. 
2
Q. 17. State in each case whether the cash flows resulting from the transaction are from ‘operating’ ‘investing’ or ‘financing’ activities;

(i) Issue of shares capital for cash

(ii) Redemption of debenture at premium for cash

(iii) Purchase of machinery for cash

(iv) Purchase of inventory for cash

(v) Sale of goods for cash

(vi) Payment of interest on debenture

(vii) Receivied interest on investments by a trading enterprise.

(viii) Payment of income tax

 (ix) Payment of income tax

(x) Sale of old furniture at a loss.






3
Q. 18. Explain briefly the interest of shareholders, lenders and taxation authorities in the analysis of financial statements of a company. 




3
Q. 19. The current Assets of a company are Rs. 15,00,000. Its current Ratio is 3.00 and Liquid Ratio is 1.25 calculate the amount of current Liabilities, Liquid Assets and Inventory. 









3
Q. 20. On the basis of the information given below calculate any two of the following ratios:
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a) Gross Profit Ratio
b) Debt-Equity Ratio
c) Working Capital Turnover Ratio
Information:
Net sales Rs. 5,65,000; Cost of goods sold Rs. 3,75,000; Current liabilities Rs. 1,75,000; Loan Rs. 1,25,000; Current assets Rs. 3,25,000; Equity share capital Rs. 3,95,000 and Debentures Rs. 1,29,000.

Q. 21. Following are the Balance Sheets of JP Ltd as on 31st March, 2003 and 2004:

	Liabilities
	2003 Rs. 
	2004 Rs. 
	Assets
	2003 Rs
	2004 Rs. 

	Share Capital
General Reserve
Profit & Loss A/c
Proposed Dividend
Bills Payable
Outstanding Expenses
	95,500
20,000
17,000
19,000
8,000
3,000
_______
1,62,500 
	1,26,700
27,000
14,300
21,700
2,300
4,900
_______
1,96,900
	Goodwill
Machinery
Investments
Debtors
Stock
Cash
Preliminary Expenses 
	25,000
75,000
10,000
15,000
27,000
7,500
__3,000
1,62,500 
	20,000
1,00,000
17,000
18,700
21,600
18,400
__1,200
1,96,900


You are required to Prepare cash flow statement




6
Or

The following balances appeared in Machinery Account and Accumulated Depreciation Account in the books of Jai Bharat Ltd:

	Balances as at
	31.3.2003
	31.3.2004

	Machinery Account
Accumulated Depreciation Account 
	Rs.
17,78,985
3,40,795
	Rs.
26,55,450
4,75,690


Additional Information:
Machinery costing Rs. 2,65,000 on which accumulated depreciation was Rs. 1,00,000, was sold for Rs. 75,000.
You are required to:
a) Compute the amount of machinery purchased, depreciation charged for the year and loss on sale of machinery.
b) How shall each of the items related to machinery be shown in the Cash Flow Statement?
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